Function Machines and Equations

1. Find the Outputs for these:
a)    10
in 
( 3
      + 8

out

b)     7
in 
( 5
      -13

out
c)     8
in 
( 9
      -2.5

out
d)    29
in 
+ 4
      ( 3

out
e)    12
in 
- 7
      ( 4

out
f)      4 
in
( 9
      - 4

( 2
   out
g) 
 15
in
( 4
      + 9  

( 7
   out
h) 
 45
in
( 3
      - 6

( 5
   out
i) 
 12
in 
- 3
     ( 9

(2
   out
j)      6
in
( 7
     + 8

( 5
   out


2. Copy and complete to find the missing numbers:
a)
2, 4, 6

in
?
out
  7, 9, 11
b)   3, 5, 7

in
?
out
  9, 15, 21
c)   4, 6, 8

in
?
out
  -1, 1, 3
d)
5, 7, 9

in
?
+1
out
 16, 22, 28
e) 
6, 8, 10
in
?
?
out
 14, 18, 22
f)
7, 9, 11
in
?
?
out
 10, 14, 18
g)
?, ?, ?

in
( 3
- 2
  out
   13, 19, 25
h)
?, ?, ?

in
( 3
+ 7
  out
   10, 12, 14
i)
?, 5, ?

in
( 4
 ?
 out
 12, 16, 76
j)
?, ?, 12

in
?
?
out
 6, 18, 30
Solving Word Problems
a) A quarter of a number is three. What is the number?
b) A number is doubled and then 3 is added. This gives 13. What is the number?
c) Daniel and Gareth share £10 so that Daniel has £2 more than Gareth. How much do they both receive?
d) The area of a triangle is found by multiplying the base by the height and then dividing by two. If the area is 12 cm2 and the base is 6 cm, what is the height?
e) Charlie has many large cans. The large cans are placed in a wooden box which has a weight of 3 kg. The cans weigh 1.5 kg each. If the total weight of the box and cans is 12 kg, how many cans are there?
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